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Chapter 14: Division (2, 3, 4, 5, 10)

i. Write division sentences for each group.
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There are 4 hearts with 2 hearts in each group.
There are groups of hearts.

So,4+ =
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There are 12 arrows with 3 arrows in each group.
There are groups of arrows.

So, 12 = =

YUY WW Yoot Yo Yo
WY W WR WR Wik

There are 20 stars with 4 stars in each group.
There are groups of stars.

So, 20 =+ =
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There are 10 clouds with 5 clouds in each group.
There are ____ groups of clouds.

So, 10 =+
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There are 30 triangles with 10 triangles in each group.

There are ____ groups of triangles.
So, 30 =
ii. Division by 2.
1.12-2 = 4 6+2 =
2.10+2 =___ 5.18+2 =__
3.2+2 = 6.24+-2 =
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iii. Division by 3.

1.21+3 = 4.24 -3 =
2.9+3 = 5.18 -3 =
3.12+-3 = 6.3+3 =
iv. Division by 4.

1.16 -4 = 4.24 -4 =
2.4+4 = 5,40+ 4 =
3.36 +4 = 6.8+4 =
v. Division by 5.

1.15+5 = 425+5 =
2.10+5 = 5.40+5 =
3.50+5 =__ 6.5+5 =

vi. Division by 10.

1.10+10 = 4.250+10 =
2.70+10 = 5.100+10 =
3.50+10 = 6.40+-10 = __
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Solve the word problems using division.

. Five people wants omelettes for breakfast. If there

are fifteen eggs, how many eggs are needed for each
omelette?

. Kelly's mom brought 30 pizza rolls for the 6 girls at

the party. How many pieces did each girl receive?

. Mrs. Curry has 100 stickers. She wants to give an equal

number to 10 students. How much stickers will each
student get?

Remainders

. There were 15 marbles in the jar. The marbles were

shared between 2 people.
Each person got marbles.

There was marble left over.
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2. The greengrocer shared 37 apples between 5
customers.
Each of the customers got
apples.
There were apples left over.

3. There were 25 oranges in the box that were shared
between 10 people.

Each person got oranges.
There were oranges left
over.

4. Toby shared 44 carrots betweenb

people.
Each person got carrofts.
There were carrots left over.

5. Amy had 25 roses that she shred betweem 2 vases.

Each vase had roses in it. )
There was rose left over. eq@%/
T
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